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Step 2:
[image: ]
[image: ]

















Step 3:

The steps used by depth- first search to produce a spanning tree are shown below:
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Step 4:
We start with vertex ‘a’ and a path is built by successively adding edges incident with vertices not already in the path as long as possible.  This makes path a,b,c,d,f,e,j,p,q,r,s,t.  Next back track
to s.  There is no path beginning at s containing vertices not already visited.  Then, back track to r, then q, then to p and then j created the path j,k,l,m,n,o and also form the path j,g,h,i.


Thus, the spanning tree is shown below:
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Use depth-first search to produce a spanning tree the given simple graph. Choose a as the root of this
spanning tree and assume that the vertices are ordered alphabetically. Use depth-first search to produce a
spanning tree the given simple graph. Choose a as the root of this spanning tree and assume that the
vertices are ordered alphabetically.
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We can build a spanning tree for a connected simple graph using depth — first search.

We will form a rooted tree and the spanning tree will be the underlying undirected graph
of this rooted tree. Arbitrarily choose a vertex of the graph as the root. Form a path
starting at this vertex by successively adding vertices and edges, where each new edge is
incident with the last vertex in the path and a vertex not already in the path. Continue
adding vertices and edges to this path as long as possible.

Ifthe path does not go through all the vertices, more vertices and edges must be added
Move back to the last vertex in the path and if possible, form a new path starting at this
vertex passing through vertices that were not already visited. If this can not be done,
move back to another vertex in the path and try again

Repeat this process until all the vertices of the graph have been visited.
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We can build a spanning tree for a connected simple graph using depth first search we
will form a rooted tree and the spanning tree will be the underlying undirected graph of
this rooted tree.
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